INDIAN SCHOOL SOHAR
PERIODIC TEST -1 (2018-19)
SUBJECT - MATHEMATICS

CLASS -V
SET -A

Date of Exam: 22-05-2018

Time Allotted: 1 hour Max. Marks: 20
(Note: This question paper consists of 2 printed pages. Please check that you have all the pages.)

SECTION-A

I Fill in the blanks:- (Y2 x 8=4)
1. 3 million = hundred thousand.

2. 8000000+800000+8000+800+8=

3. Express 100 in Roman numeral
4. The face value of 5 in 346576 is
5
6
7
8

. The Hindu Arabic numeral of L is
. Lakh has digits.

. The place value of 7 in 17268 is
. The predecessor of 34550 is

SECTION-B

II. Do as Directed:- (1x6=06)

9. Round off 2835 to nearest ten and hundred.

10.Write the number in figures.
I. Four crore six lakh two thousand eight hundred one.
Ii. Twenty eight crore nine hundred forty two.

11. Arrange vertically and add : 6328956 + 9276538

12. Find the sum of the place values of 4’s in 3498740.

13. Add : CCCL + DC.

14. Find the difference between the smallest 7- digit number and the largest 6 — digit number?
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SECTION-C

111.  Solve:- (1Y% x 4 = 6)

15. Subtract and check your answer : 646125 from ten lakh.

16. Subtract 7430912 from the sum of 3673098 and 5783621.

17. Reverse the digits and insert commas. Write in words according to
Indian place value chart. 928604864.

18. Make an Indian place value chart and write the following numbers in it.
700368912.

SECTION-D

IV. _Word Problems:- (2 x 2=4)
19. Mrs. Aruna had jewellery worth of <. 89,81,207. She spent ©.57,431 on

repairing it. She then sold it for T. 85,90,500. How much money did she lose or
gain in the transaction?

20. Ravi earns T.58,723 more than his brother Rajesh. If Ravi earns ©.5,45,920 per
annum. Find Rajesh salary.
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INDIAN SCHOOL SOHAR
PERIODIC TEST - I (2018-19)
SUBJECT - MATHEMATICS

CLASS -V
SET -B

Date of Exam: 22-05-2018
Time Allotted: 1 hour Max. Marks: 20

(Note: This question paper consists of 2 printed pages. Please check that you have all the pages.)

SECTION -A

Fill in the blanks:- (Y2 x 8 =4)
1 thousand = hundreds.
The face value of 4 in 450386297 is
The successor of 78205 is
The place value of 2 in 17258 is
LXXX+LXX+LX = .
The Hindu Arabic numeral of C is
Express 1000 in Roman numeral. :
5 Lakh + 12 ten thousand = lakh + 2 ten thousand.

O N R WD

SECTION -B

II. Do as Directed:- (1 x 6=6)
9. Round off 7985 to the nearest ten and hundred.
10.Write the number in figures.

I. Sixty five lakh six thousand nine.

Ii. Seven crore three hundred nine.
11.Find the difference between the smallest 8 — digit number and the largest 7digit number?
12. Add : CCCL + DC
13. Arrange vertically and add : 54934280 + 74588562.
14. How many lakhs are there in one crore.
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SECTION -C

1. Solve :- (12 x 4 =106)

15. Subtract 4,56,07,659 from 6,08,43,234 and check your answer.

16.Find the sum of 2674920 and the difference between 7648932 and 4569032.

17.Reverse the digits and insert commas and write in words according to
International place value chart. 928604864.

18.Make an Indian place value chart and write the following numbers in it.

70,03,68,912.

SECTION-D

IV.  Word Problem:- (2 x 2=14)

19. Mrs.Smita had jewellery worth T. 79,81,207. She spent T. 67,431 on repairing it.

She then sold it for T. 85,90,500. How much money did she lose or gain

in the transaction?
20. Sumit earns T58,723 more than his brother Saurabh. If Sumit earns T. 5,45,920

per annum. Find Saurabh’s salary.
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